) dod N3 G U Qi) A9 4) Saving tme. [abor and moncy

lyy In-depth stucly
¢} Relnble conclusion

) All ol the above

W a4 laaaa anam
wfayau-a L
gyalel v

|9 ATy AHAT andon sampling ) b1 39744 Flow 15 randon sampling useful”
HIg? a) It 15 acourate
A d A A hy N r]} u’nlnmuull method of data
[ I . collecthion
| ) 21 HEATH 2 BRI ugd s ¢)  Itis free of bias
' | ) & T HE I d) Al the above
, | ) &l §d
-
| W< | WF FITATHIST WISATeTTHT ST What is the name of conceptual framework in |
' W IR TA G 1L L X G T b which the research is carried out”
1) GYINET R a) Rusuarn.:h h}:‘pulllcsts:
— > by  Synopsis ol rescarch
) HIMATET 9 ¢)  Research paradigm
F) FENET AT (paradigm) d)  Rescarch design

T) HIMHE JARESE!

KR | GTHATS SR RN Glefiet debt ot 8. Authentic researc
a. Originality

h Imdmm are due to....

T W Elara? ginali
a7) HifEAT b. Orhj!.:c.lmly
= c. Validity
) g4 d. All of the above
) Iyl
2) afe |d
go T cde! Iud GEAIHE Freld e HXdl Which of the following cannot be expressed
A9 ARY in quantitative terms?

a. Marital status

30 S b. Marital preferences

) ital preferences
H)éaﬁ'ﬁ‘m ¢. Attitudes towards partner selection
&) qrfieR fHaeeme 9 d. Age of marriage
3 &) FEE 9
Eﬂﬂﬁﬁm@ﬁmﬁq‘rﬁﬂ@ﬂ? Population data is comprehensively gi\'e?iﬁ
mm feeielt 3R which of the following source?

) U, TH.0E. 31 a. NSSO
i Wﬂ? b. NFHS
| =) ETR.UETH ‘ ¢. Demographic Health Surveys
WWWW d. Census

e Tema caTaelT e 9o T HAY fafoaa Determining the relationship between two or
more variables is known as....
a.  Survey research
b.  Natural Observation /J

R
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) Frdteor @)

¢.  Action rescarch

&) el w1 d.  Correlational rescarch |_
B) WEREAMA 9 |
53 RS IR Fc'_i'f_ﬂ“l R 3777 A Normal Distribution is Symmetric about |
30 fﬂ"‘{:ﬂ a) Variance
o) JII by Mecan
&) W19 fagery ¢) Standard Deviation
| s uEvEw dy Co-variance
R¥ q|:ﬁiwﬁmﬁ_‘ﬁﬂﬁ1ﬁ{ In standard Normal Distribution the valuc of
3Tq? median is?
) R '
) o a) |
®) 3 {‘; : |
. |
®) ffeaa = d) Not Fixed |
B4 | GG 93 @feiien] #9d auid #3d | Ethnography describes -
3) "l a) Culture [
T) A IS b) Way of Life |
sk y ;)) ;—30“'1 Afalrll‘nctla Bbovc |
8) AT FIETET R i — |
EE ¥ AT0T Theh VAT AITHA (H1T) Flal Find the mean of tossing 4 coins "
3) % a)?
)R b) %
&) 2 ¢)?
) ¥ d) ¥
|
BT T arithmetic J17T IITET: £,2.4 ¢ 2777 | Find the arithmetic mean of the set of data: 6.1 *qﬁl
g\9 %0 and 10
£ a)4
94 b) S
%) | c)6
¥\ d)7
il Find the mean, mode and median of the given | S2TeAT feetemr Hamal 5, 51 311791 81379 mean.
m f *+0y . » » v Ve O » -
ets of data 5,8,12.17,12,14. 6.8, 12, and 10 S
1,12,10
' 8, 12 3ffr 10

3f) 11,12,10
) 10,12, 13
D) 11,1213

L€
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) 10,1201

'y

Wihieh of the following s a hranch of statisticy

RS | varettenta) dmdl v aimemend A
:' W) .-||1'|.;|.;;._§. m;],.:,"i] i) Deseriplive slatisties
i ) MHIAA AT BT b) Inferentinl statistics
| &) 3TN W dan ¢) Industry statisties
‘ @y 31 anfur 9 a1 & Both A and 13
wo | aviarers amwsads fpim dad 30| The control charts and procedures of descriptive |
'I LM-‘IT"I\"'tﬁ Jﬁ j]ﬂ"h%litﬁ ?{,\’IU'”JIHI:EI AMTEn | statisties \’t'il.ll’ll are used 1o Cfl]li!['l-(_‘i:' ”. l"""‘-"—:lllJI:L' |
ST Al AMeh] aairen Ao @ildgid chedl | can be classified into which of these categories
ATE FahdIq? 1) Behavioural tools !
F) advf T b Serial tools
) Mt wnA ¢) Industry statistics
&) 3TN ATHEad d) Statistical tools
®) Wiftera! A= {
|
Wt | IV O AR Tl 0T A9, Su1 S0 di\ma}l—éblcs whose calculation is done |
Fﬂ'ﬂﬁ:[ﬂﬂ el FIA? according to the weight, and length known as?
37) TATETE = UEH a) Flowchart variables |
) AT I b) Discrete variables !
h) Hdad dd ¢) Continuous variables
<) ATSHY 9 d) Measuring variables
(s U FFEH] I A, 3 TEdd 3T 2 ﬁzﬁq A box contains 2 red, B_grccn. and two blue I
HTEA. A Hlacten 9 e Favar s | balls. What is the probability that none of the |
fA ball drawn is blue? |
a) 10725
H) 20/ by 1021
) o/32 ¢) 10/31
F) 20/32 4 10 |
EIRTIEE
@3 | Ieoieal 221 Gedl I9=ar I 3.8,4,5.9 Find variance of the given data set 3.9.3,6.7 i
Ei R4 2) 1
b
LA c'; 3
) 3 d) 4
€)%
TEoiear €21 G2o1 t9=Tddl TTOTAT T Calculate the variance 1_31'_gi\'cn data set:

4,7.63.,73
a)
b)
<)

o =

¥
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o | SeE 99 9T AT AR T2 AR T
oSG 9975 ¥¢ 99 HEE A7 arsHg 99 | of their ages 1s ¥¢ Years what is the age of

The age of father 1s trice of his son. If the sum

) dy K
2
3 FT SIS MBI aAH g E Action Research can be understood us
At Ay Longnudinal Rescarch
M) !«-'-{T“-‘;’ RN ' by Apphed Rescarch
| F
) ITUTEI "IN ) A hind of Rescarch heing carried out
&) ’3?7‘43 BRIAR IS0 SN Ua | " lr\tI r{n}l‘\‘v':‘&“:ltu- Problem
. i Cx "“wioe
. | VT TFNS 4 J73 ang
‘ [ nEEEs
ot | e=m sETOTSEA S wer fras v 2 | What number should fill in the blank?
CAINL WY 300 | 843114, 39,17
W}y ¢ i
a) §
¥ a)
b) 14
F) ¥3 ¢) 43
‘§] Y ‘ Lh -
| o N
SR BAD T YZW FTW SAME &1 HZNV HETIFB:\D is written as YZW and SAME as
FRE W LOVE s s R O | HZNV then how should LOVE be coded?
: N
' a) ROWN
TDIUC | b) DIUC
FHOLEV | ¢) OLEV
I
|

= ] father
: 1 a) 30
ana | b) 32
h 0N c) 36
| F)3E d) 40

BAZ.DCY. FEX.?
a) FXW !
b) EFX i
¢) FEY |
d) GHW

Arrange the following terms in a mcaningul: ‘
logical order indicating the correct order
1) Asia
2) Universe |
3) Hyderabad

14
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N Fates e

wF

v | A vmen fafere dasat x5 . -
a } fittet aral . A ﬂﬁ‘ﬁ WPISH O EHRG | 1 FISH is wrtien as’| FIRCY in a certam
i« S A T w9 dkaterd) nw code. then how would 'J1 INGLE' be written
R na ;
WUNGLE &3 efes i'ﬂIir.‘vT_‘ the same code”
NITMERD a) TIMEKD
&) ITHFRD by TTHIEED
. ¢) KVOHMI
&) KVOHMY dy 1IMEKD
D TIMEKD
A s x‘{ Fﬂﬂﬁ_?ﬁm1 AT TSN b Sushant ranks cighl_cvn!h in a class of 49
e, A1 vEA faem sniwar s <tudents. What is his rant from the Jast?
IR a) 18
i—)‘g h} 19
e) 31
F) N d) 32
R
ETE: SUEI SR Tl gIE 3% A AL If the average of three cnr'scau—ive even -

numbers is 34, find the largest of these

numbers.

a) 30
b) 32
c) 34
d) 36

Im

o T/ el ST SO 3 s FTA

Seited. 2 A Quo HigT TR, T !

A train moving at SOkm/hr crosses a bridge
45 seconds. The length of the train is 150
meters. Find the length of the bridge.

in |
|

6% S.1. what amount he needs to pay after
years to clear the debt?

a) Rs. 5500

b)  Rs. 5900

¢) Rs. 6100

d)  Rs. 6300

4 ' _ : a) 525 m
LRSS b)  545m |
=) Wy H ¢)  575m '
1 ) Lol H d)  300m |
| | ®Duecd |
e B e < }
{ec |MEFABE% TH. T4, AT A 4000 daet. @ | Rohan has borrowed Rs. 5000 at the rate of "

Ifa:bis 3:4 and bic s 2:5. Find a:b:c.

a) 3:2:5
b) 3:6:5
c) 3:4:10




A )

) ]
™
3 ? ' LU R |
¥
|
s — . i i — |
RN PR IATIET {EA D

CARAE SR E |
Q) g
) IREN

T)YHE

—_——

G faaE aren oy 39t

sejaTa! fawa FTa IR ATE I
SRl fH TR S 3T,

\\JH;II wordd does

. |
Wi

wiyl belong with thie ther

1y bk
1) inile x
) glossary

d) chapter

Read following statement and answer

Blueberries cost more than straw berries
Blueberries cost less than raspberries

Raspberries cost more than  straw berries and
blueberries

th

true. the third

If the first two statements are
statement is

a) true
b) false
¢) uncertain

d) All are false

Rete Az AER A 3T Tt 8 feT
e,

gEEE F A R, e qeeEiEr faen
wifiad 1 7 favar s &1 smdiener

A AT TR e, g @i faen e

2

17

I

Find the statement that must be true ;ccordmg to |
the given information.

Raavi is twelve years old. For three years, she has
been asking her parents for a dog. Her parents
have told her that they believe a dog would not be

happy in an apartment, but they have given her




T E—

. dargy ‘H-n-l‘fl 'i " {1 Wit 2alt Iy A1 Araee

pormssion o have a b, Baave ha "y
-ih'I l'\l 1!!' 1 !-.’“]-H L A RN AT
L UEBIE M M e ided what kind of bed she wonild ke to

3] ML AL T .
] B IR ] e ‘l\}h ‘ '.”|r‘” ,“‘:” i ) Riirivi's pare nis Hke - }

HIAEAIN
they hike dogs

) T I s e et B Reavi dacs not like birids

) W@ MG agate van apd e ¢} Raavi and her parents iy

A1
apartment

&) TF1 370 qieies vt glesdard d)  Raavi and her parents would like

move

Read following statements and choose option

RY WAt [ aren 3100 ygig [Haer
R rEarc ﬁ"ﬁﬂ? mm o feem I'he government has recently fixed the lec

professional courses offered by the unaided

|
i
|
|
1
i
1
|

i §
s FOOr

SO SWEAE INAHRAY Vo6 [vad || _ _
institutions which are much lower than the fees
: A Ml ATHRVATT  STATT | charged last year.
W&" [ER FH HTE, 11- The parents of the aspiring students launched 2
£ SRE . severe agitation last vear protesting
- fSA13E1Hd @8 g HIHRTETT Jui=41 CVETE BEIEAtION Jastyore P £

the high fees charged by the unaided insttutions
cause and statement 11 is its effect
faameteaT TeTehiT o at dig 3iaTAq 6ol a) Statement is the

S b) Statement 11 is the cause and statement |

gid.
3 faur & R ane anfor faE o S

is its effect

c) Both the statements 1 and Il arc

independent causes
=) faum 1 2 HRw e st faar | & d)  Both the statements | and 11 are effects of
gfomT E independent causes

e) Both the statements | and 1l are ettects of

&) | J0 11 =T foraT 3= SR AR
2) | FMfor 1 ZET Taum wEEa s iy

s0me commaon cause

-

HEd
AT fer a1 211 Wi e,

Read following statements and choose option.

I- All the schools in the area had to be kept closed

for most part of the week.

18



i. " '{I:Il'}. I]Iwh]‘].i[ e |{,,"," J"'l[f-"‘.

| WTGATAY] WRIgA Hired

Wy fewrq ) @

e A

gam Ay st Yepar o @

| ) i & ana ang \]]t“] ‘;'l\“,' Tl 111"‘“”

K

L)y 1 anrfn 1 ot i sl ot anRe

Ty 1wt g et s drmie ol

11 Many  parents have withdrawn their children |

from the weal schools

A Statement I 14 the canse and statement 1 i |

s elleet !
By Statement [T (he canse and statement | g ;
its efleet

¢y Both  the Jatements | oand 11 are

independent causes
arc effects of |

d) Both the statements [ and 11

independent canses

!

o3 ==L
L,O.J,T.H,P
aNnx

{Ms
|#z

yeiwe fee aTe. fectean TR EXdeiel

| | A
b R& || Fesien uvaial 3W -;:‘ﬂqlm;fi @1;3‘1&! qng?ﬁ arer | Read the f'nITm&-'uu_f_-nrl'::rnmnun ln;h'_wur the s_riw:n
FEe ggaml. SLOW MOVE. GET questions In 2 coded message, SLOW M“W“.
Ty T GET BACKWARDS, FIRE AWAY is written as |
' VFMD ZMWLE, BEN PCTLDCOXU. QHOE
VEMD ZMWE. BEN PCTLDCOXU. QHOE [ cDCL
CDCL. a7 &ITen Ghige 3R, =T | Based on this coding scheme, spot the codes for
B AR AR AR A following words
) QHEHTE a) QUEHTE
by QHEEOT
%) QHEEOT ¢) QHETOL
%) QHETOE d) QHEOTE
<) QHEOTE
Re | @ WEA () 271 =vitaearE gurerel | In the following question, various terms of an |

alphabet series are given with one or more missing |
terms as shown by (?). Choose the missing term out |
of the given alternatives, ‘
L,0,J,T,H,? |

a) X

by S

¢) 7

dy W

-"@‘W

Jo
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‘ Y 467N J'il.;i ¢ 7 ¥

TUTHT 30T =7 v e 'y il
‘ ) ‘ HASAT 67§ o | If the Number 467X4 15 divisihi '
‘ Te-=Tidhd i) ﬂf[".] l'|..f.'I 9T | vitlue of
: | 3f) 4 | ay 4
)35 | b)
‘- $ )0 l g 8
27 : dy 7
ET T T D e e | !
<% T FEATE] /AHA Ro 318 Ueeh W7ol 3 3 | Average of 5 Numbers is 20 if each number|
RT3 AT TR fadt e | multiplicd by 2 what will he the new average”
3o v
| b) 40
%o
)% c¢) 30 ;
3’;]‘4.0 (H ()
g)Ro
—Q_Cl_o____&_?f—“\o\ e HIT ATSA IS ?H..'UTI_&ETCT{ q 9_—; = What should be added to 1459 so that it is exactly

3T fasisTd ager?
¥

)3

Gl

)&

=

R

20

divisible by 12

' a) 4
by 3 i
| = |
(o IR l
|

d)y 6




